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MODEL PAPER ‘ENGLISH’
Intermediate Part-1 Examination

OBJECTIVE

Time: 30Minutes Marks: 20

Mote:Write answers to the questions on the objective answer sheet provided. You have
four choices for cach objective type question as A, B, €, and D. The choice which
you think is correct; fill the circle in front of that question numher. Use marker or
pen to fill the circles, Cutting or filling to or more circles will result in zera mark in
that question. Attempt as many question as given in objective-type question paper
and leave others blank.

Q.No.1. Encircle correct answer like A.B,C or D to the following questions: 10

(i} “{3h,ves”, Normi reprossed o smile: She was sure now i1 was a sales-piteh.
(a) Persuasive talk (b)) do business o) cunning {ud) allurcment

(i} I had never seen anything extraordinary upon this high point of rugped land.
(a) fertile (b) rough {c)even (i) smnoth

(i) The children with their vellow hair hollered ot the deep dome of martian sky.
{a) yelled () cried (c) lInoked {d) pointed 1o

(iv) | had a vexing dream one night.
{a) nightmare {b) happy {c) disturbing (d) joyful

(v} He had been, perhaps, too deeply engrossed in himsell.
(a) absorbed {b)busy (chinterested (el ) annoved

{wi) The Tirst Man reads a disearded newspaper.
(a) decorated {hlinteresting ) old {d) rejected

{vii}  Ellen fdgets as she listens the broadeast of her Lather,
(n) leels restless (hy slumbers  (c) enjoys {d) s down

{viii} Miss Me Cutcheon wanted to guit and go back home.
{a) eam money {(bigiveup  (c)teach () b quict

(ix)  We have no time to stand and stare.
(1) sense (b wait () e (el) 5o

(%) | met a traveller from an antigue land.
{a) unigue {b) ancicnt {¢) remnte (udy alien

Encircle correct answer like A,B,C or D to the following questions:

(xi) " How were the people of Hurbert's village destroyed?
(a)by war {biby illness  (ciby Nood (ely b plague

(xii)  What was the trial shot of the doctar aboul the sich girl”?

(a) flu (b} fever tch diphtheria {ad) sare thivesa
(xiii} Which one is a desert state sweltering with the heat of injustice and oppression
(a) Georgin {1 Mississippated Alabawma (dp Virgmia

{xiv] What is the age of the gitl in *“The Hear Lighting?

{a) 20 (b1 21 () 22 iy 23
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MODEL PAPER “ENGLISH”

Intermediate Part-1 Examination

SUBJECTIVE

Time: 2:30Hours Marks: 80

SECTION -1

Note: Out of Questions No.2 opt any 6 questions, Out of question No.3 opt
any 5 questions and out of question No.4 opt any 4 questions. While writing
answer, write question No. carefully.

().No.2. Write short answers. 12

) Why did Norma want to get $ 50.0007

{i1) Why did Jess not want lo go with his old father?

(iii)  What was the condition of the Bittering family on hearing the news of war on the
carth?

{ivi  Why did Mrs. Jones ask the boy to wash his face and comb his hair?

{(v)  Why did Manana accuse Hubert of picking the lost packet book?

(vi)  What was Gorgious's ambition?

{vii)  What is the dream of Martin Luther King?

(viii) Why did Della sell her hair?

(ix}  What things were found in the various pockets af the overcoal?

(}.No.3. Write short answers. . 10

(i) What is the condition of the pirl when she eniers the bus station®
{ii)  How does the girl come to know that the first man is the killer?
(iii) Who is Kreton?

{iv)  How does Krelon impress General Powers?

) What is the purpose of Kreton's journey to the earth?

(vi) Why does Clay need money?

{vii) What does Miss Mc Cuteheon think about children of the own?!
{viii) Why does Clark Larrahee return home?

().No.4. Write short answers. 8

(i) What does the Might Mail bring?

(il  What did the reader tell the rider about the valley?

{iii)  Why docs the poet feel impressed by the Sindhi Woman?

{iv)  Who was Ozymandias?

{vi  What is the moral lesson of the poem “A Tale of Two Cities™?

(vi) How do the attributes of God cxercise their influence on man’s charucter!!

SECTION -11

Q.No.5. Write a letter to your cousin suggesting him/her some books to improve his/her 10
English.
OR
Write an application to the Principal of your college requesting him/her (o allow you 1o
change your subject (s).
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Q.Ne.6. Write a story bearing the moral: A Stiteh in Time Saves Nine,

L]
OR

Mecessity is the Mother of Invention,

Q.No.7. {a) lixplain the following lines with reference lo the conlexi.

(b) Punctuate the following extract from Book-1

(c)

().No.8.

They take it. break it open, let

A gold or silver fountain wet.
Mouth, fingers, cheek, nose, chin:
Radiant as lanterns, they forget

The dark street 1 am standing in,
5

and jess he almost whispered the doctors told me to sil still and to take lile casy |
could not do it | had to work [ had to go back

Use any Five of the following pair of words in your own senfences: 5
(i) Accede; Concede (i) Barren; Baron (1) Device: Devise
(iv) Human; Humane (v) Tail, Tale fvi) Vain: Vein
(vii) Vale; Veil
15

Translate the following passage into Urdu (Short Stories Book-I). .

When the couple had walked some hundred yards ahcad of him. he
hurricdly started afier them. Hardly had he reached half way across the road when
a truck full of bricks came from behind like a gust of wind and crushing him
down speeded off towards Mcleod Road. The driver ol the truck had heard a
shriek and had actually for a moment slowed down, but realizing that something
serious had happened, had taken advantage of the darkness and had sped away
inio the night. Two or three passers-by who had witnessed the sccident shouted:
“Stophim’ ....... take the number,” but the truck was no more (o be seen.

OR
Candidates whose medium of Examination is English will write an cssay on
“Examinations”.

15
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Time; 20 Minutes

MODEL PAPER “PHYSICS”

Intermediate Part-I1 Examination
OBJECTIVE

Marks: 17

Q.No.1. Note:Write answers to the questions on the objective answer sheet provided.

(i)

(1)
(iii)
(iv)

{(v)

(vi)

{vii)

{viii}

{ix)

(x)

(xi}

(xii)

You have four choices for each objective type question as A, B, C, and D. The
choice which you think is eorrect; fill the circle in front of that question
number, Use marker or pen to fill the cireles, Cutting or filling to or more
circles will result in zero mark in that question, Atlempt as many guestion ns
given in objective-type question paper and leave others blank.

The dimensions of Momenl of inerlia are

() ML? (b) ML? (¢} ML (d) ML

The resultant of two forces 10 N and 8 N cannot be:

() 2M (b} 18N (c} 12N (d) 200

i{jxk)

(a) i (b} ] e}k (d) 1 .
The velocity - time graph is parallel to Time - axis, the acceleration of the moving
body is

{a) Positive (b} Negative fc) Zero (d) Maximum

A body of weight 5 N falls though a height of 10m. lts encrgy 3m above the
ground is:
(a) 25) (b)50J  (c) Both *a" and ‘b’ ()75
The weight of man in a clevator moving down with an acceleration 9.8 ms” will
become:
{a) Helf (b) Double {c) Unchanged {d} Zera
‘The moment of linear mormentum is called:
{a) Impulse (b) Torque () Angular Momentem (d) Couple

High concentration of red blood cells increases the viscosity of blood from

(a) 2 =3 times that of water {b) 3 - 4 times that of water {c)3-5
times that of waler {d) 4 = 5 timcs that of water

The product of time-period and frequency is equal 1o:

(a) 3 (b) 2 (e} 1 (d) 0

The velocity of sound in Hydrogen as compared to Oxygen under similar
condition is:

(a) % the velocity of 02 (b) Four times the velocity in 02 fe) ¥ the
veloeity in 02 {d} Two times the velocity in 02

When two notes of frequencics fy and f; are formed. If f; > £ then frequency of
heats 1s;

(a) fi + 2 (b)fi- i (c) ¥ (f; + f) (d) Ya(h - )

Light from sun reaches the earth in the form of:

{2) Cylindrical wave front (b) Spherical wave frant {c} Plane wave
fronts {d) All the above
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S|
(#iii) The central part of Newton's Rings when observed with reflected light is dark due
to the reason that,
{a! The part of ray reflected from upper surface of convex lens undergoes a phase
shift of 180 {b) The reflection from upper surface of air film undergocs a

phase shift of 180" (¢) The reflection from lower surface of air film
undergoes a phase shift of 180" {d) All of above

(x1v) A double convex lens acts as a diverging lens when the object is:
{2} Inside the focus (b} Away from 2 {e) Between § and 2f
(d) On 2f

{xv) [l.east distance of distinct vision:
{a) Increase with increase of age (b) Remain same with increase of age
(¢} decrease with increase of age {d) All of these

{xvi) Pressure g-f an ideal gas in terms and conditions of its density can be written as:
(@) P=Py (b) P= 113 P} (e) P=2i3 Py (d) P= 14 Pv?
(xvii) Which of the following forces is irreversible:

() Slow compression of an (b) Slow evaporatian of a substance on an
clastic spring insolated vesscl
(c) Slow compression of a gas {d) A chemical explosion
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MODEL PAPER “PHYSICS”
Intermediate Part-1 Examination

SUBJECTIVE

SECTION -1

Time: Z:40Hours . Mimihs: 68
Note: Out of Questions Nos.2,3, and 4 write any 22 (Twenty two) short

answers. While writing answer write question No. carefully,

Q.No.2. Write short answers,

Name two physical quantities which have the same dimensional formula

7]
Write the dimensions also with each

Find the dimensions of *n" in the relation F = éxnrv where r = radios and v =
velocity
1) Wiite the names of two supplementary units and defice them

iv) Fnr::.:s'lFl, £, F; and F, are equal in magnitude but have different directions as
shown in the given figure. Which force will give maximum work and why?

Ld

e ]

_ P S S
vl 'ii.vcnﬁhm A=1-2j+3kand B =3 ak find the length of the projection of
SN :
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¥i)  Find the value of unknown forces R, in the figure (Rod AB with pivotal point D)
using 2™ condition of equilibrium. .

g, E?' E; o k £ : '- i %
e REE = 3m
= e s e T T R e e i __.-.-} d
5 b
A S :
Irm
200 300K

vii)  Inthe figure the velocity of the car is reduced due to arding force F
Find the magnitude of the force. iy 2

(viii)  In the figure. maximum height and horizontal range are Hiid _
projection of the projectile, & equal, the angle of

!
i R,
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(ix)  Prove that power is a scalar product of force and velocity.

(x) In figure there are three paths between points A and B. On which path the work
done in moving a body from A 1o B will be maximum or will it remain the same.

(xi) A body nf'_nm m is falling down with velocity v, and at height h; from point
P. If there is no frictional foree, write the work-energy equation for the body at

point Q.

Bedy o} maca m
F °
v
Nt
ik,

a |/

w

"—\-—n-._u__’

:

. 8

-

. - W = o
b T
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Q.No.3. Write short answers,

i) Figul:n !.hm‘w. a miess m artached to a mass-less rod at 0 (pivor point). A force is
applied on it as shown. Find the value of TORQUE in terms of moment of inenia

! and zngular acceleration ‘a’.

i) .ﬁlmﬂﬂkgurhmvelingwithlspmdnflﬂkum-lrnundawm:afwﬂm.
Find the necessary centripetal force.

i) Describe what should be the minimum velocity for a satellite, 1o orbit close to the
earth around it, :

o

v} State the Torricallis’ Theorem with diagram
v) Explain the difference between laminar flow and turbulent Now,

¥ij- Tworow boats moving parallel in the same direction are pulled towar
other, Explain Vps et

vii)  Define Resonance with one exampie

viil} A mass ‘m" 15 attached with a spring and pulled slowly through x, agains: ¢
elastic restoring force F, using Hooke"s Law, calculate the work done in
displacing the mass and hence calculate elastic PE of the spring

i) Expluin §.H Motion for & body of mass 'm’ atached with iy
constant k h 2 spring of spring

1) txplain the terms crest, trough, node and antinodes.

i) ?":":lrrm the three important cases of superposition of two waves whea they act
simultaneously upon the perticles of medium.
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).No.4. Write short answers.
i} What is Huypen's Principle?
iy What iz Total Inlernal Reflestian?

i) Draw the diagram of Michelson’s Interferometer and write the equation by which _
we can find the displacement L of the mirror_ ;

i¥)  Define Grating Element.

v} Howis the distance berween interference tringes affected by the separation
between the slits of Young's Experiment?

vi)  Draw the Ray-diagram of & compound Microscope

vii)  How does the magnification of &) Simple microscope and b) Astronomical
Telescope changes by decreasing the focal length of an eyepiece. Explain,

vil}  Name the three rypes of optical fibres.,
) State First Law of Thermadynarics with sign conversion

%) Why C, > C.? =
x1)  Explain the principle of Heat eagine with diagram
SECTION - II :
Note: - Attempt any THREE questions. (Bx3)=24

Q.Nos, (2) Define Vector Product of Two Vectors with examples. State 1 ght hand rule, 4
Showthat AXB=-BxA

(b) Find the engle betwean vectors, A = 5?-] and B = 2i + 4} 4
(Q.No6.(a} Denve an expression for Centripetal Force 4

b) What is the J=ast speed at which an aeroplane can execute a vertical loop
of 1.0 kem radius 5o that there will be no tendency for the pilat to fall down
&l the haight point, -

().No7. (a) State and prove Bermoulli's Thearam. 5 4

() How large mwst a heating duct be if air moving 2 0 ms” along it can
replenish the air in a room of 300 m’ voiume every 15 min

Q.No§, (2) Give drawback of Newton's formuls far velocity of sound. How wasthis 4.
was corrected by Laplace

(b} Find the temperature at which the veloeity of sound in air is two times *
its velocity at 10°C.

=
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Time: 20 Minutes

MODEL PAPER “CHEMISTRY”

Inter -1 Examination

OBJECTIVE

Marks: 17

).No.1 Note:Write answers to the guestions on the objective answer shect

(i)

(ii}

(i)

(iv)

(v}

{wi}

(vii)

{viil)

(1x)

provided. You have four choices for each objective type question as A, B,
and D. The choice which you think is eorrect; fill the circle in firont of thai
question number. Use marker or pen to fill the circles. Culling or filling to or
more circles will result in zero mark in that guestion. Atlempt as many

question as given in objective-type question paper and leave others blank.
Which ol the following has least mass?

(@) 1 moleolS (b) 7.0gof Ag

{¢) 2 g atom of nitrogen (d) 3= 10" atoms ol ('

The rate at which the solute maves in paper chromatography depends upon:
(2) the distribution cociTicient (b} the distribution law

(c} the boiling point of the solvent  (d)  Low pariial pressures
The formula for density of a gas at a given temperature and pressune is:

| %]
(@) d = g by d - J/T
(c] d = nP/RT {d}. d = %

In order to maintain the boiling point of waler at 1 10°C. the extemal pressure
should be:

{a}y 550 (hy  between SO0 and 760 1omr

(¢} between 760 and 1500 torr (d) 2oy pressure con be mointained
The CI€ ion present at the corner of the unit cell is NaCl erystal. contributes:
(a) 1/B1th (h) 144 Lh

(e} 12Z21h )y 1

Spliving of spectral lines when atoms are subjected to strong clectric hield s
called:

(a) Zeeman cffect (b  Siark cffect

(el Photocleciric effect (d)  Compron cilce

Cruantum number values for 2p orbitals are:

{a): m=2 =] () n=| i

() m=1 i=0 dy n=2 (=0

The paramagnetic behaviour of O molecules i5 best explained by

(a) V.B. Theory (by M.OT

(e} four lone pairs on tWo oxXVgen atoms
(d) VSEPR theory

The dipole moment of CHCl; is 1.05 D, while that of CCL is 2ero Debye. becanse
in CCly:

(ay bond lengths are unegual

(b)  the structure is planar

(c} the stracture is perfectly tetrahedral

(dy every bond is non-polar
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(x)

(xi)

{xi1)

(xin)

(x1v)

(xv)

(xv1)

During an exothermic or endathermic r:ag;linu. which one. of the [pllowing
formula is used 1o caleulale the amotnt of heat evolved vr absarbedl™
(a) All=AE+PAV (b AR gW
() Q=mx5xAl (@ Q,=AH
K, and K., of a gaseous chemical reaction are relaied as,
K, = Ko (P)", it shows that:
(a) Kgisalways greater than Ka
(b} K, is always greater then K,
(c) It depends upon the nature of reaction
(d) Tt depends upon the nature of reaction, pressurc and the system at
equilihrium stage
Which of the following solutions have highest pEl:
(a) 0.1 M H;504 (b 0.01 M NaOH
() 0.02MCH,LCOONa () 0,00 M NalTCo,
In azcotropic mixture showing positive deviation IIT.'J.HLI Raoult"s law, the volume
of the mixiure is:
(2) slightly more than the total volume of the compancnts
(h) slighily less than the total volume of the components
(¢) equal to the total volume of the components
(d) nonc of these
The cryoscopic constant of water is 1.86°C. The elevation of 1.1
solution of a solute in waler is:

foor bl m

(1) 186°C (h) 1.86°C

(¢} 0.186°C (d)  suflicient data nol given
The oxidation number of carbon in Cyo1 10 1

(1) 0 (h} =6

e) +6 (d) ¢2

I caleulators and digital waiches, (he buttery which is mostly used is:
{a) alkaline battery (h} silver oxide haten

(¢) Ni-Cd battery ()  Ph-storage battery

(xvii) A catalyst inereases the rate of reaction by

(a) reacting with reaclants (b) reacting wilh |1mduu1_:.-
(¢) decreasing the activation encrgy (d) increasing the activation ¢nergy
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MODEL PAPER “CHEMISTRY”

Intermediate Part-1 Examination
SUBJECTIVE
SECTION-1

Time: 2:40 Minutes. Marks: 68

Note: Out of Questions Nos.2,3, and 4 write any 22 (Twenty two) short
answers. While writing answer write question No. carcfully.

Q.No.2. Write short answers. (22x2)=44

{il MNaCl has 58.5 amu as formula mass and not the molecular mass. Justify i,

fitl What is the number of covalent bonds in 8 g of CH,?

(i} 11 g of carbon is reacted with 32 g of oxygen to give CO,. Which is the limiting
reactant?

C+0:—— & 05

(v)  How does a Gooch crucible increase the rate of liltration”

{vi How the decolourization of undesirable colours is carried out lor freshly prepared

crystalline substances?

(vi) Calculate the density of CHy at 8.T.F.

(vii}  How do you explain that -273°C is theoretical temperature and is not sttainahle?

(viii) Caleulate the 5.1 unit of general go% constant 12,

fix] Why the vapour pressure of waler. ethyl alcohol and diethyl cther are dillierent
from each other at 0°C7

(%) Wiy the things can be casily cooked in a pressure cooker!

(xi}  Sodium is o good conductor of electricity but sodivm chloride in solid state is nod.
Give reason?

.No.3. Write answers to the short questions.

(il Justify that the distance gaps between different orbits go on inereasing from the

lowwer to the higher orbiis.

Why the photographic plate is dark and a few bright lines are (here in the line

emission specira of a substance?

(i)  According to de-Broglic’s idea, only microscopic particles have the wawves
Comment upon il.

(iv)  Why the ionization energies decrease down the group although (he nuclear
charpes increase?

() Why scecond LP. of an element is always greater than its first 1,12

(

(Vi) Why NI I3 and i“'H] give coordinate covalent boands with HE?

(viil -~ How ML.OCT, justifies that He atoms cannot make the Flea?

tviii)  How do we determine the AH in the laboratory for food, fuel ete.?

(ix)  Specific heat of a substance depends upon the nature of substance. Comment.

(x) Those gaseous reactions which happen with the increase of volume go to ihe
backward direction, when the volume is decreased. Why?

By diluting the solution of CICOOH, the % age ionization changes, but the
dissociation constant of the acid remains the same al a constant lemperature.

How?

(=i}
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Q.No.4. Write answers to the short qm_'estir:-ns.

(i)
]
(1ii)
(iv)
(v}
(vi}
{vii)
{viii)
(ix)
(x)
(x1)

Moic:
Q.5 (a)

{b) A well-known ideal gas is enclosed in a container having volume SO0 cm®

The sum of mole fractions of all the componenis is atsays cqual 1o unily for any
solution. Justity i1,

Why the relative lowering of vapour pressurc is independent of tempermy e

Why the NaCl and KNOy are used to lower the melting point o ice?

Why a salt like CH.COONa produced from.a weak seid and a slrang fise pives o
basic aqueous solution?

How is Al anodized in an electrelytic cell?

How can we say that ¢ voltaic cell is reversible =cli?

How docs electrochemical series tell us the distinction vetween the oxidizing and
reducing agents? : '

What are the electrode reactinns of dry cell? .

The reaction rate decreases every momenl but the rate constant *%° of (ke resction
it & constant quantity, under the given conditiong Tl i,

Define activation energy and activated coniples.

The reactions happen due to collisions among the moadtcules bar all the collision.

are not fruitful. Justily it

SECTION-IT
Attemipt any THREE guestions. C3 Bxn=24
Hew the mass spectrometer is employed todo the analysis’ of isolopes of an
element. Mention the roles of electric and magnetic fields. 5

-
1

5.T.1. Tts mass comes out to ke 0.72g. What isthe molar mass of this pus?

Q.6 (a) Define and give two examples ol cach of the progertics of enystalline salids: 5

(b} What is Born-Haber eycle? How lattice encigy of # erystal can be datermined by

Q.7 {u)

(b} Discuss the structure of ethene (CHz = CHa) on the basis of sp -hybridisation of
Q.8 (a) Give three definitions of ‘Racult's law. Derive the formnla of this Lo when hoth

(b} Caleulate the pH of a buiTer solution in Which 0.1 1. molar Cliz COGMN ad 0.0

(i} Isonrorphism. - i}  Polymosphism.

(iii) - ‘Transition tempersture Gv) Allotoopy 3 e
¥} Anisotropy \

it . A 3
Justify varicus spectral lines for hydragen atom by using the formula of energy
difference of Bohr's model of hydrogen atom. 4

carban atoms, q

the vomponents sre volatile.and give its graphica! exnlanation, y

=

malar CHyCOOH solutions are present. pKg frr CHGCOO 5 4.78. i

Q.9 (a} Give the rules for the halancing of redox reaction iy jon-glectron metiod and

tb) How Archenius equation is einployed to caleulute the encrpy of activation ' of a

hn.lﬁllﬂ.’:' the following equation by this methed . : 4
MO i + €10, g + H3O ——— MOy 1 GOy 1Oy

reaction. |
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Time: 20Minutes

MODEL PAPER “BIOLOGY?”

Intermediate Part-1 Examination

OBJECTIVE
Marks: 17

Q.No.l1. Note:Write answers to the questions on the objective answer sheet provided.

(i)

(it}

{111}

{iv}

(¥}

(vi)

(vii)

{viii)

{1x]

(x}

{xi)

{%ii)

(xiii)

You have four choices for ecach ohjective fype question as A, I}, C, and D. The
choice which you think is correct; fill the cirele in front of that question
number. Use marker or pen to fill the circles. Cutting or filling to or more
circles will result in zero mark in that gquestion. Attempi as many question as
given in objective-type question paper and leave others blank.

A large regional community primarily determined by climate.
{a) Population {b) Biosphere {c) Ecosystem (d} Biome

Substances which on hydrolysis vield polyhydroxy aldehyde or ketone sub-umnits,

{a) Acylglycerols ih) Molypeptides (cy Carbohydrate (d) Nuclcic acids
Tay-sachs discase results due to accumulation in brain cells:

(a) Mg++ ions (b} Gilucose {c) Lipids (d) RNA

The infectious proleins are:

(a) Viruses (b) Viroids {c) Virions () Prions

Bacteria require low concentration of oxygen:
{a) Acrobic {b)} Anacrobic {c) Microaeraphilic  (d) Facultative

The cell wall consists of two shells that overlap like a petridish in:
{a) Foraminifern (k) Actinopods () Slime molds Ly Dicileams

Carcinogenic mycotoxins called aflatoxins arc produced by:

{a) Aspergillus {b) no italic (c) Neurospora {d) Uistilago

In Anthoceros sporophyte at the junction of foot and spore producing reglon
there is a band oft

{a)Paraphysis (b} Meristcmatic tissue

{c) Phloem (d) Xylem

The body cavity of Nematoda is called.
{a) Blastocoel ({b) Haemocoel () Spongococ] (el) Pseudococlom

Which Fish show modification of aquatic breathing system to meet the conditions

of terrestrial life by developing hungs?
(a) Hagfish (h) Dogfish {c) Dvpnoi (dy Shark

The process by which a pH gradient across the membrane drives the formation of ATP:
{(a) Chemiosmosis (b Chemosynthesis  (c) Photosynthesis {d) Carbon fixation
Ammonia, a waste product of amino acid metabolism is converted o urea in:

{a) Kidney (b) Liver (e} Villi {d) Pancreas

In the lungs of birds instead of alveoli tiny thin walled ducts are present which are

called:
(a) Tracheoles {b) Bronchioles (c) Air sacs (d) Parabronchi
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(xiv)
{xv)
{xvi)

{xvii)

The pathway involving system of adjacent ecll walls which is contintous throughout
the plant roots:

{a) Casparian strip (b) Apoplast (¢) Symplast. (d} Plasmodesmaia
f!acmrigluhin malecule in most cases, does notthave B-chain in it instead F chain is
presen

(@) Cedema (b) Leukemia (c) Thrombosis (d} Thalassaemia
The megasporoplylls bearing ovules are not folded und Joined al the margins (o form
O ovViEry:

(a) Filicineae (b) Monocotvledonac

{c) I?lmtyludc:uae (d) Gymnospenmine

Rubisco protein fixes oxypen instead of C0, ©

() Glyeolysis (b} Photorespiration  (¢) Krebs'cyele {d) Respiration
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MODEL PAPER “BIOLOGY”

Intermediate Part-1 Examination

SUBJECTIVE

Time: 2:40Hours Miarks: 68

SECTION -I

Note: OQut of Questions Nos.2,3, and 4 write any 22 (T'wenty two) short
answers. While writing answer write question No. carcfully.

(22Zx2 )t
Q.No.2Z. Write short answers. ;
{i} Differentiate between deductive redsoning and inductive reasonming,
{11} How is o peplide bond formed?
CELTH] Hew does eneymie concentration affect the rale of reselion?
{iv) What are polysomes?
(¥] Compare microtubules with microlilaments,
(v What do vou know aboul the capsid of o virus?
Iviil  Give the impodance of plasmids.
(viii)  What is a hydroponic culture technique®
fix) What is the role off t RMNA.
(%} Give two differences between prokarvotic and cukarvolic celis,
(=i} [HiTerentiate between antiseptics and disinfectants.
Q.MNo.2. Write shart answers.
(1) What are the distinguishing characters of kingdom protoctisin'?
{it) List four adaptanons of Brvophyics 1o terrestaal onvinoiient
(1) Expluin the evoinion of megaphyll,
[1v) Giive a descriplion of conndin in Pesricidfinm
(v} Explain polymarphism in coclemontes.
{vi) DifTerentiate between polvehaetn and oligochacia,
ivit) o Giive four differences between Dicots and Monmocuts

(vitl)  What is the imponance of drcfocapireri 7

{ixl Compane an aseus with o basidiom.
(%] Give two dilTerences between gymnosperms and anginsperms,
(%) LHow have reptiles been able o live on lond™?

Q.No.4. Write short answers,

(i} What is meant by compensation point?
(it} What is the role of pastrin?
(1ii) Compare acrobic and anaerobic respiration.

{iv] Bifferentiate between mmonoeyles and lvmphocyies

(vl What is photore=piration?
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(vi)  How is food swallowed by you? o

(vii} Differentiate batween single circuit and-double circuit hearl.
(viii) What is diving reflex in cetaceans?

{ix) Why do some plants feed on insects?

(x)  What is meant by preparatory and oxidative phase ol glvmlwﬂ
(xi)  Dilferentiate between apoplastic and symplastic pathway laken by wailer [0

reach the xylem tissue.

SECTION -II

i 8x3)-24
Note: - Attempt any THREE questions. (8x3)

sins structural organization.
f amino acids? Describe four hwji_ﬂf'_pljutr.ms
S E::f::;: the action of catalytic proteins he inhibited? (2+4+2)

cri ' 1+7
Q.No.6. Dehine alternation of generations. Describe the evolation of secd. (1+7)
Q.No.7. Narrate the general characters of Arthropods. What is the importance (7+1)
T of chitin in their life?
s 8
(Q.No.8. Describe light dependent reactions of photosynihesis.
B

Q.No.9. Discuss the evolution of vertehrate heart.
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MODEL PAPER “MATHEMATICS”
Intermediate Part-1 Examination

OBJECTIVE

Time; 30 Minutes Marks: 20

(1)

(i)

(i)

(iv)

{v)

(vi)

(vii)

{viii)

(ix)

Q.No.1. Note:Write answers to the questions on the objective answer sheet
provided. You have four choices for each objective type question as A, B, C,
and D. The choice which you think is correct; fill the circle in front of that
guestion number. Use marker or pen to fill the cireles. Cutting or flling tv or
more circles will resnlt in zero mark in that question. Attempt as many
gquestinn as given in ohjective-tvpe guestion paper and leave others blank.

‘Tha no: ? is called a:

(a)  retionalno. (b) irationalno. (c) :_._:__.:__ i_ '_id;r: '=inﬁ§i=-nrmns;
The set {(a,b)} is called: ' Al pr )
(&) infinite sel (&) singleton set  (c) ns‘! mihtwa clmicnls (d]' mpt:.r u:t

%

; Asqumcmamﬁmaa:k:wha:mhmf{.ﬂ'ilaquth: It : P
(@ A ® A © 4 e _
If the matrices A and B are conformable for multlpl.‘iﬂl:ll:ﬂ, ﬂlm [.-IB}‘ = R
(a) AB (b). BA' () A'B‘ {d} B‘.-I
If the roots of the quad equation ax® + kx +¢ = l‘.'.'l mml m:ﬂ aqua‘fth:u
() b'-4ac>0 () B —4ac=0 () ' b -4ac <0 (d) = noneof these
The product of the four fourth roots of unity is: - | T i SR,
@ o ® 1 (O S @ i
Partial fraction nf.—lr_. w:nhaafmuﬁ:m:' 2 e
IJ{x -1 - g :

A Bx +¢

@ x+1+;¢5-1

AT c
O e TR R I

Agithmetic mean between 2a and 2b iz

@ 2 ® atb
ﬁ:snmufanmﬁmtagmmmmunuhlﬂ : r
(a) Irl<1 m =t | : (d} ey
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(x)

{xi)

{xa1)

(xiit)

xaw)

{xv)

(xvi)

(xvii)

{xviii)

{xix)

(xx)

[ .
> K? is equal to:

k=l
aln+1) : n(n+1)

{a} 5 {b) T

() %ﬂ {d) nons of these -

If A and B are disjoint events then P{ AL B) =

(2)  P(A)+ P(B) - ®  KA)-P(B)

{c) F(A4)— P(B)- P(A[ B) (d)  ‘none of these

If *C, =" €y, then v = :

(@) 4 13 ol Sttt (5 (0o A (d)

The expansion of (1 +2x)~2 is valid if:

(a) jxf = % ()] x| <1 (e} [x| <2 {d)

In one hour, the hour hand of a clack tums through:

@  Zradians () %mﬂims )

8
sin(24) =
2tang : 2tand 1-tan’ 8
Ei e ———— e ¥t | v d T iy e Al d
T B e A AR e LR EBER
Period of sin— is:
3
i
4] T {b) 3x {c) T {d)
If AARBC isright angle triangle, then the law of cosines reduces to:
{a) The law of sines {b) The law of tangents
{e) The pythagors theorem {d) none of thess
Radius of escribed circle opposite o the vertex A is:
A A A
S b —
(a) 4 ) b (<) R (d}
The domain of the principal tan function is:
-7 I
o [FZ ® om o = @

The solution of the equation tanx = - % 15 in;

{a) [ and I quadrants
(4] i1 and TV quadrants
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MODEL PAPER “MATHEMATICS”
Intermediate Part-1 Examination
Z SUBJECTIVE { ;
SECTION -1

Time: 2:30Hours . Marks: 80
Note: Out of Questions Nos.2,3, and 4 write any 25 (Twenty five)
short answers. While writing answer write question No.
carefully.
Q.No.Z, Write shurt answers.
(i} Find multiplicative inverse of {-4, 7)
(i) Define a complex number.

(iit) Definea semi-group

(iv)  Show that the statement (pAg) — p isa tautology: - - 2
() Show B — A by Venndiagram when A and B are overlapping :Scts7 '
3 Foong kR
(vi) ifAd=13 2 -1| showthat 4+ 4' i:aymnwf;&v >
-1 3 2 ;
[ ﬂ‘:r 1
{vii)  Without expansion verify that [ 7 + o =
Y o+ 81

[(viii} Define the rank of & matrix. %

(ix)  Define a polynomial function and degree of polynomial. .
(%) Show that 1+ w?” + w*® =0 i !
CC+4 is divided by 'x'— 2, the remainder is 14, Find the

{xi) When polynomial x° + 2x? +J
value of k.

If e, 8 sretherootsof 5x7 —x—2 = 0, form an equam:m whusérlbntsaré

f|w

3
@B

(i1}

).No.3. Write short answers.

(i) Resolve xzz_, 1 into partial fractions.

(ii) What is a proper rational fraction?
(iii) Whichterm of the A.P. 5,2-1........i5-8B5

5 1 1
(iv) If; ..% P arninG.P,shnrwmatmnmmmﬁn‘m_;

o

(v) If a5 =2n -5, find the mh term of the ﬂquencal : ' S
(vi) Huwmanymofth:snjm~9-ﬁ-3+ﬂ+ ...... a.;:nﬁrunttuﬁ-ﬁ
(vii) If5is the HM. between 2 and b then find b, .~ 0 ot w0 ol

(viii) Find the number of diagonals of a six sided fighre.
{ix) How many arrangements of the letiers of the
be made.

(x) A ball contains 40 balls out of which 5 are ; e
yellow. A ball is taken out of the bag. Find the probability that

(xi)  State principle of mathematical induction. e o
(xii) Expand (1+ 2x)™" up to 3 terms. e
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(J.No.4. Write short answers.

(i) e fime an anglie.

{11} Prove that [ = rg8

(iii) Define a radian.

(iv) Prove that cosec & + tan & sec =coscc & +su:3£'

cos11% +sin11°
= tan(56°
cos11® - sin11® & )

{wi)  Express sin 7x +SinSx asa product.
(viz) Draw the graph of y = COS x from-90%0 90° <Lt

) Prove that

{viii} What do you mean by the solution of a triangle?
{ix) State any two laws of cosines in & triangle.

{x]) Prowve that r = A S
5 —a A 4 .
(xi)  Find the area of & triangle ABC in which b=21.66m, ¢=302m, and ¢ = 52940°

22 al e | o
P that tan™ = | e k| s
(xii) Prove tha 3 =+ fan 5 tan [IBJ

(xtii}) Find the solution set of the equation sinx = -]2;

Mote: Attempt any THREE guestions. All questions cn}r}- cqun] mnrks.
If a, b are elements of a group G then. shmv that {ﬂb} T .b" T

Q.N0.5. (a)
a a a :
() Showthat| @ wo+/ a |[=F (3a+D)
@ a’ a+lf :
2 LA R :
Q.No.6. () Prove that ~ o Eir;;—cl =1 ha¥ equal roots, if ISy
e 2a'm +b,ar0,020 R 5
o aF -ﬂ'“l T ol e r ik o3 T
(b} Find'n'so that g be HL.M. betwesna and b, o
Q.M. 7. (8) Provethat "3C 4"t ¢c =t ‘-;_ Hh v .

(b} Use mathematical meduction to prcw: th:al x+_1,r is'-g.ﬁ_.fa-;mr af
x4 M ) 27 D sy

. No.8. (a} Find the values of the lngunomctm:. ful'u:l.lms n-ftlm .mgle 235 '

(b}  Prove that cos20° cos 40°. l:nsﬁl]“' msmﬂ & JL

Q.No.9. (a)  Define inscribed circle and prove tha!.r = :

a7 IVt YAy,
Proveth 1] 2L [ ginm3| 2 |=eas = :
(b) vethat sin [BEJ sin [5) ms(;’]
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MODEL PAPER “STATISTICS”
Intermediate Part-1 Examination

OBJECTIVE

Time: 200Minutes : Marks: 17

.No.1l. Note: Write answers to the questions on the ohjective answer sheet provided. You
have four choices for cach objective type question as A, B, C, and 1), The choice
which you think is correct; fill the circle in front of that question number. Usc
marker or pen to fill the circles. Cutting or filling to or more circles will result in
zero mark in that guestion. Attempt as many question as given in objective-tvpe
fquestion paper and leave others hlank.

5
{1} If *a’ is a constant, then EI a equals:

{a) a,+ay+az+aytag {b) as (c) 5a {d)at+5
(i1} Statislics arc:
(a) Agpregale of facts and figures (b)Y Always true

() Always continuous {(dy Always gualitative

{1ii} A graph of a cumulative frequency distribution is called:

{a) Freguency curve (b} Frequency polvgon () Ogive {d) Histopram.

{iv) Census returns sre

{a} Primiary data {b) Sccondary data
{c) Qualitative data (d} True data.
(v The harmonic mean of (wo numbers “a and b* is :
(a) 2 (b) ab (<) 2ab (d)ath
a+h a+b ath ah

{vi} The sum of deviations taken from A.M.is:

{a) 1 (by Zf (ekn (d) zero
{vit) Ifleft tail is longer than the right tail, then distribution is called:
{a) Megatively skewed (b} Positively skewed
{c) Symmetrical {d) Nane
(wiii) The first moment about mean is equal to:
{(a) Variance {b) Zero {c) Mean (d) Standard deviation
(ix) Ifall items are given equal weights, the index Mumber is called:
(a) Weighted {b) Un-weighted (c) Simple {d} None
(%} An index number is called composite index when it is computed from:
{a) Simple variable (b} Bi-variable
{c) Multiple vanable (d) None of them
{xi}  The number of permutations of ‘r" objects taken out of total “n” objects is:
(a) "c {b) "py (c) "ex (d) Meq
(xii)  The probability of surc event is: E
{a) Zero {b) Megative {c) One {d) None
(xiii) Two cvents A and B arc called mutwally exclusive if:
{a) F{AuB)=d (b} PIABY=h {c) P(ANB)=S (d) P{ANB)=1
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-36-

{(xiv) A set of numerical values assigned 1o a sample space is called:

{a) Random variable b} Random sample
(c) Random numbers {d) Random experiment
(xv) Var (4x+8)is:
()12 Var (X) (b) 4 Var (X)+8 (c) 16 Var (X)
(xvi} The binomial distribution is negatively skewed it |
1 I HE
(E)P::'; {b]P-I (elp: =
{xvii) The mean of the hyper-geometric distribution is:
i) nk (b} Wk {c) Nn
(a) % - S

id) 16 Var iX18

{d)p-]

(dyn'k
[
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MODEL PAPER “STATISTICS”

Intermediate Part-1 Examination

SUBJECTIVE

Time: 2:40Hours Marks: 68
SECTION -1

Note: Out of Questions Nos.2,3, and 4 write any 22 (Twenty fwo) short
answers. While writing answer write question No. carcfully.

.No.2. Write short answers. ' (22x2)=44

(i} Define Statistics.

{it) Differentiate between variable and constant.

{iiiy  Distinguish between Primary and Secondary data.

{iv) Define class limit and class boundary

{v) Define classification.

{wi) Define tabulation.

{vii)  Wrilc down the important points to prepare a good table

(viiid  In a moderately asymmeltrical distribution the value of median is 53
and the value of mode is 50. Determine the mean.

{in) The mean of n value is 8. 17 a new value 28 is included. the mean
becomes 9. find the valuc of .

(%) What is meant by measures of central tendency?

(xi) Write the gualities of o good average.

Q.MNo.3. Write short answers.
(i} The first four moments about the A M. of a distribution are 0.4 nd
48. Find bs.
i) Explain the moments abost mean,
{iii}  Write mathematical propertics of 5.1,
{iv) Distinguish between simple and composite index numbers.
() Explain the meaning of consumer price index number.
{vi) Given W= 20253040 and = t'n % LOWY = 100, 05,1 10120 P consamer
price index number. Lo
(vii) ' Given the following information: ¥ pyge™ 4220, ¥ puta= 1520
¥ Prdn= 4810 and ¥ pgs= 4020. Find Marshal- Edge worth tndex
{viii) Differcntiate between absolute and relative dispersion.
{ix} Define Mean deviation.
{x) What are weighted Index mumbers,
[xi) What are properties of vanance.
).No.4. Write short answers.

(i} Write the statement for addition law urpmhuhi]i:,:.r for any 2 cwenls.
{i}) Prove addition law for muivally exclusive events,
{ii) Deline o random variable,

(iii) If P (A)=0.7.F{By 0.5 amnd P (B/A} 0.5: find PeAIB).

{ivi  IF 3 coins are lossed. what is the probability of getting at most two s

(v)  Given B(X+4)=10 and E{X +-4* = 116, determine Var {X).

{wi) Wrile properties of mathematcal expectation.

(vii)  Write formulas of mean amnd variance of the benomiaal distribution.

(viti) Wrile the properties of binomial experiment.

{ix) Define Hyper peometric distribution,

{x) In @ binomial distributic . the mean is 3 and standard desiaiion is 1.5, find s
parameLlers.

(xi) Define classification,
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SECTION -I11

Note: - Attempt any THREE questions. {8x3)=24
Q.No.5.
{2) Draw an ogive for the following data
[ Groups | 10-19 12029 [30-39 | 40-49 | 50-59 | 60-69 |
Mo of 15 20 25 30 IS5 10
Boys D B T
{b) The lrequency distribution given below has been derived from the use
of working origin. If D=X-18, find A.M. and H.M.
[rygilisiasaT g eormappian e pEn EgaTT v g0 7] sy
L) =0T - TR S T § AR an
Q. MNo.6.
{e) A variable Y iz obtained from a variable X by the equation Y'=2X 15,
Diectermine the Y values when the X valoe are 3.6.2.1.7.5. verify that
Vax (Y) = 4Vax (30
{b) The first four moments about X=20 of a distribution are <238, -104
and J088. find out whether the distribution is leptokurtio, meso kurtic
or platy kurtic.
Q. No.7. '
(a)y Construct the chain indices for the following dawa for price relatives
for 1941 to 1944 e AL LES | ;
| Year Sugar - | Gur [ Tea |
R k- S e I LTS 52
P o P A00 s e Y B RE S 4
1943 114 B3 » 78
1944 109 Y A |89 }
(b)) Give the following information:
T Pale= 3600, ¥'pig.= 4300, T puqy= 4100 and ¥ p;q= 4890, Show
That Fishers ideal price index number is the G.M: of Laspyres and
Pasche's price index numbers,
Q. MNo.N.
(2} A bag contains 7 white. 5 black and 4 red balls. IT vwo bulls abe deawn ol
random, find the probability that;
(i} both balls are while o (ii) ane is black and other is red.
+
(b} A Function is given by fix)= A 2=x<=d. show that it is probabilily
IR
density function and find the Probahiliny
That (i} x= 2.5 (ii)x < 3.5
Q.No.9. {2) Find the mean and S.1. of the binomial (q+p)’

(b) Five balls are drawn from a box containing 4 white and 7 black balls.
If X denotes the number of black balls drawn from the box. then oblain
the probability distribution of 2. Find the mean and variance of this

distribution.
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MODEL PAPER “COMPUTER SCIENCE

"l b |

Time: 20Minutes
Q.No.I.Note: Write answers to th

(i)

tir)

{iii)

(iv)

[(v)

(%)

{vii)

(vl

fix)

(%)

(xi}

{xii)

Intermediate Part-1 Examination
—————=tqialc tart-I Examination

OBJECTIVE
Marks: 15

€ questions on the objective snswer shoer provided.
You bave four choices for cach abjective type gquestion ns A I O, and 1) The
choice which you think is earrect; fill the circle in front of that question
number, Use marker or pen to fill the circles. Cutting or filling to or more
circles will result in zero mark in that quesrion, Attempt as many question as
given in objective-type question paper and leave others blank,

g spellings and grammar in Fxeel?

Which function key is used for checkin
(e} IF7 ey iFiz2

(a) Fi1 () F2

device,

Digitizing/Graphic whble is a/un b
() Outpat device (b} Scanning Deviee
() Pointing Device {d) None of these

EL stand for
{a) Electrical Luminescent Display (b} Energy-Luminescent Display
(e] Electro-Luminescent Dizplay {d} None of these

bvies,

I Terabyte equals o sl
(a) 1024 {b) 1024 * 1024 * 1024

(c) 1024 = 1024 #1024 * [ 024 (d)} Mone ol these

Each location in primary stordpe is assipned o unigue

{a) Dotz {h} Fields fc) Mame fd} Addess

keeps ek olthe program durring cxceution,
{B] Progmm counter TopiSier

l-ilil Address rréi-s'n-:'r
(A} Accmmmlaten regisior

(e} Duln register

Information travels between components of o computer throuph sroups of wires

called
{a) Cards (b} Busses (o} Slors () Ports

Stored instructions and data in a digital computer consists off

{2} Alphabers (b} Mumerals c) Bits Ad) Al of these

A digital computer svsiem consists of a Central Processing Unit (CPUD imterficed

with

(a) input devices (b Auxiliary storage (o) Dutpnit devices - (d) All of ihese

What luver of the OS] Model does data compression

(a) Network (b} Data Link (v} Presentation (b All of these

Which of the following aceess methods histens 1o the cable for network traffic

before sending data®
{a) Token passing (b Polling (e} E2SMANCA () CSMANCTD
In a networking environment. a network adapter card driver is necded for:

(2} Communication with other adapter cards on a network

{b) Communication between the file seever and the anleer computer on the network
(e} Comrnunication between i adapter card ar . the con s sperating system

(d) Communication helwesn Jdi (e By of con oders om o netwark
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(xiii)

(xiv)

(xv)

Which of the following statement hest describes a star topology?
(a) Needs significantly less cabling than other topologies

(b) Breaks in a single cable segment takes down entire network
{c) More difficult to reconfigure than other topologics

{d) Centralized monitoring and managcmen

A program that performs a useful task and at the same time carrics out some secret

destructive act, is known as a
{a) Sabotage {b) Trojan horse (c) Worm (d) Logic bomb

The most common protocol used for uploading and downloading files between
compuler is

(a) TCPAP {(b) NNTP {c) FTP (d) Telnet
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MODEL PAPER “COMPUTER SCIENCE”

Intermediate Part-1 Examination

SUBJECTIVE

Time: 2:10Hours Marks: 60

SECTION -1

Mote: Qut of Questions Nos.2,3, and 4 write any 18(Eighteen) shart
answers. While writing answer write gquestion No. carefully.

Q.No.2. Write short answers. ’ (18x2)=36
(1) What is Information and Technology? How has it made our world a global
village? F
(it} What is computer?
(nin) Differentiate between hardware and software, Also give examples.
{iv) DifTerentiate between De Faleo and De Jure.
(v Explain workgroup computing.

{wi) Is BUS topology casy to install ond extend? Prove your claim with valid
arguments.

[vii) What is data communicalion? Mame its throe modes.

(viii}) Differentiate between guided and unguided media.

{ix) What is Modem? What are its different types?

.No.3. Write short answers.
(i) Writle down the three uscs of computers in various Nelds.

{ii) What is computer simulation? Explain.

(i) What is EAM? What are ils dilTerent types?

{iv) Brielly describe bus interconnection.

{v) What is function of General Purposc Registers?

(vi) Explain different steps invielved in Instruction Excute Cycle.
(vii} Dilferentiate between interpreler and compiler.

{viii}) Describe boot sector virus,

fixh Write down two causes ol computer virus,

Q.No.4. Write short answers.

(i) Differentiale between multitasking and multiprocessing.
(£1)] What is a word processor?

(iii) What is the difference between copy and cut?

{iv) What are the two modes of typing?

{v) How a document is prinied in MS Word?

(v What is a spresdshect program™?
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(vii) What is meant by cell reference?
(vii}  What are functions? Write the function to find average of cells hetween 13 and

Bin.
(viii)  What is Web browsing? Write two limitations of email

SECTION -11
Note: - Attempt any THREE questions. 8x3=24
().No5. Describe the OS] Model with special emphasis on the layers ol OS] Model. 8
Q.No6. What is data coding? Describe differcnt data codding schemes b
Q.No7. What is a system? |llustrate briefly System Development Life Cycle. 8
Q.No8. What is data communication? Define the basic component of 8
communication network.
]

().No9. Explain the architecture of computer sysiem.
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Time: 3Minuates

MODEL PAPER “ECONOMICS”

Intermediate Part-1 Examination

OBJECTIVE
Marks: 20

).MNo.1. Note:Write answers to the questions on the objective answer shect provided.

(1)

{ii)

{iii}

{iv)

(v}

{vi)

(il

{viii}

(i)

(=]

(xi)

(xii)

(xin)

(xiv)

You have four choices for each nbjective type question as A, B, O, and Y. The
choice which you think is correct; fill the circle in front of that question
number. Use marker or pen to fll the circles. Cutting or filling to or more
circles will result in zero mark in that guestion. Attempt as many guestion as
given in objective-type guestion paper and leave others blank.

Whr is knivwn £ called as the founder of Economics?
(a) Recardo (b 1.5 Mill {c) Robhins (b Aclam Smith

When the total utility of a commpdity is maximum the marginal utility is
{a) Negative {h) fero (c) Pasitive {id ) Maoximum

The Elasticity of demand of durmble goods is:

{a) Less then unity {b) Greater than unity (¢} Equal to unity (d} Fero

The Flasticity of Demand of substitules is:

(u) More Elastic (b} Less Elastic () Zero Llastic () Infinite Elastic
When the supply of a commodity increases without change in price it is called:

(a) Fall in supply (b} Expansion in supply

{c) Contraction in supply {d) Rise in supply

Due to the Equal decrease in Demand & Supply the price:
{a) Increases (b} Decrcases () In the snme (d} Mone of these

Reward of which facter of production is not pre-detcrmined?
{a) Labour (b)) Land {c) Entreprencur (d) Capital

The Law of increasing return is also called as the Law of:
{a) Increasing Cosls (b)) Decreasing Costs  (¢) Equal Costs () Mane of these
In general the Law of Diminishing return applies 1o:

{a) Trade (b} Industry (&) Agriculture () Mane of these
The increase in total cost due to the production of an extra unit is known as:

{a} Average Cost (b} Variable Cost {c) Marginal Cost {d) Fixed Cost

The demand curve for Monopolist is also called as:
{a) Total Revenue (b} Average Revenue (c) Marginal Revenue (d) None of these

Kinds of Market according to time-period ane
(a) 02 (b} 03 {c) 04 {ud) (hiw

The concept of Quasi-Rent was introduced by:
{a) Marshall {b) Ricardo {c} Keynes (el Malthns

TInder Marginal Productivity Theory the rewand for labour is determined o
tal (hwner (Y CGrovermment () §abour (o) Mgzl Procluct
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(xv) The rent on Marginal-Land is:
- {a) Maximum (b) Minimum {e) Zero {d) None of these

{xvi) With decrease in rate of Interest, the price of Bonds:
{a) Decreases (b) Increases (c) Does not change  (d) None of these

{xvii) How many stages are there in the Law of Variable-Proportions?
{a) 02 (b) 03 {c) 04 (d) 05

(xviii) The geographical mobility is not possible:
(a) Labour (b) Capital (¢) Land {d) Organization

{xix) When marginal revenue is zero, total revenue is:
{a) Mimmum (b) Maximum (c) Zero {d) Neereasing

{xx)  Which organization can sell the shares in the open markel?
{a) Partnership (b) Pvi Lad Cup'lpan}'
{c) Public Limited Company (d) Co-op-Society
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MODEL PAPER “ECONOMICS”
Intermediate Part-1 Examination

SUBJECTIVE
Time: 2:30Hours Marks: 80

SECTION -1

Note: Out of Questions Nos.2,3, and 4 write any 25(Twenty five) short
answers. While writing answer write question No. carefully.

Q.No.2. Write short answers. (25x2)=50
(i) What is Ecnonmic problem?
(ii) Define Normative Science.

(i1} What is Micro Economic™?

{iv) What is consumption?

() What is Negative utililty?

(wi) Define indifference curve.

(vii)  What is classification?

{viii)  What is the difference between Equation and Identical Equation?

fix) Define pammeters. :

(x) What is meant by change in demaond?

(i) Define cross Elasticity of demand.

(xii)  Why the more Elastic commuoditics arc not taxed?
().Ne.3. Write short answers.

(i) Differentiate between supply and stock..

(i) What is “zero clasticity of supply™.

(iii}  Define Law of supply.

(iv)  What is equilibrium price?

(v) What is meant h}r change in equilibrium?

{vi) Define perishable commodities.

(vii) Define production function.

{viii) What is bargaining power of labor?

(ix) What is meant by the mobility of capital?

(x) Define scale of production.

{xi)  What is meant “by Product™?

(xii) What is the relationship hetween Law of return with laws of costs?
Q.No.4. Write short answers.

(i) Drefine short run costs.

(ii) What is the relationship between Average and Marginal cost.

(iii) What is the diffcrence between short runperiod and long runperiod?
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(ivi  Deseribe the characteristics of perfect competion.

(v)  What is meant by the equilibrium of a firm?

(vi)  What is the relationship between average revenue and marginal under revenue
Monoply?

(vii) What is meant by market?

(viii) Define local Market?

(ix)  Deseribe the essentials of a market.

(x) ~ What is meant by “marginal land™?

(xi)  What is zero rate of interest?

(xii} 'What is meant by the marginal revenue product?

SECTION -II

Note: - Attempt any THREE questions. (10x3)=30

(.Na5. Critically evaluate the definition of Feonamics given by Alfred Marshall. 10

Q.No6. Analyses the characteristics of indifference curves, 10

Q.No7. Solve the Equations given below: s 10
(i) 8x +2 =13 (i) 2(x+5) = 2(x-2)

10

(.No8. Describe the practical importance of elasticity of demand.

Q.N09. Compare and contrast the Equilibrium of a firm under perfect 10

competition and monopoly

AJK Board of Intermediate & Secondary Education, Mirpur
www.ajkbise.net (HSSC PART-1 Model Papers)
Page 42 of 46



"wlbdilze"ww Sl
l-sibi e i F) Zls

R o

20,48
DsICB AN ULIAL v z‘f;;é OIS nm izl = Ui
LDLCBAZENL AN SR e TP L s
eSS epl I Lie Rusivd &l

te b K= Pt beie LU B

i) AT Joorz (L) 23503
PSR A Y [ Tt

nbicahi(s) =3(z) 20D Fean
—edf UG LA

2 0) a3 () plhie J¥i () (':-_-in[-_ﬂ'}
P T AL T

._Emﬂl' () -.a)‘(&} J'.I-Errt-rf} J'I:-_E'::LJ -1
S S T S N - V] 9S8 N

o (5) e 5w () eletal) e
w2 It fULE L s

WA ()] = (lucle(T) -','_J-lrnrr () = Qlewx( )
towthstd o &t b i Sec )

00 27D 23 () =2 (i)
PRI T

S A @) ) L))
S b S SR T

S ) =23 () =) =AZ ()
e bbbt eSS 2 A I T

=l () = AL =A™ () =gl et (i)
e C A sl

AT dror e donbest () dra Sl
; -;.EJ:IL.RPJJJ?;.EM = f

20 & @) i) ()

AJK Board of Intermediate & Secondary Education, Mirpur
www.ajkbise.net (HSSC PART-I Model Papers)
Page 43 of 46

22430 =

A

()
(i)
(i)
(iv)
(v)
(vi)
{wii)
{wiii)
(ix)
()
{xi)

{xii)



Na(®
M ()
S )
S0
bt ()
O

e Onwan(0)
holuiert )

@)
wp(E)
M)
drutihy (&)
/A (&)
e HE)
V()
Falt @)

WAL bt (i)

shis () NA®)
e S L ip L P F (xiv)

= () L)
-q_tﬂdﬂ{uﬁlf:‘.‘ {xv)

(el (&) wbicutil)
—edluttelnfwrlt  (xvi)

FOpex(e) e dbn ()
AL ALl 2P IT (vii)

o () i)
ke 01R (ovin)

A7 6 =)
O I Repm  (xix)

Wl (5) )

_..;..J‘:fa-*:);puh-'w";;. lr'-“‘- v (xx)
Frecif( ) =SA

AJK Board of Intermediate & Secondary Education, Mirpur

www.ajkbise.net (HSSC PART-I Model Papers)

Page 44 of 46



"l g J3lo

-2l P hicinFl 2 1g

Le)
Bﬂ,r,{.r & 2:30:25,
W= L LA S el e ()25 St am3e2 2l o)
L Fnrrt
25x2=50 d_:!_,-:*
LSz L = 2 Ay
fe sl Eaf- (i)

T 2ok Al i

T e =P (i)

P e slesdnli”  (iv)

Tee ;y{;,um;i" {v)

~ZE A Cirueis (vi)

el oz (vii)

T JALS BlRat=tle  (viii)

-E ARSI LFE (i)

—eifedalto b (x)

s gle  (xi)

-rgﬁﬁb{uﬁ;.pu@»_u {xii)
LS = s 3 iy

2 IALE saras (i)

s 7 L PR )

~ZE e Al ?T (i)

feslrbe addn?  (iv)

Tesee diles?  (v)

ok ALLPLILE (v

ok s ASSds v

fe_slele ikbra Af=r  (viii)

Seslfe Urianl,, (i)

-t P (x)

teslpWeied”  (xi)

* ¢ PUAL el T8l (xil)

AJK Board of Intermediate & Secondary Education, Mirpur
www.ajkbise.net (HSSC PART-I Model Papers)
Page 45 of 46



-L,[/';'f’arkl.ﬂﬁ-..-:-ﬂlr/ﬁ -4/:‘:}‘:"
Sl AL S )
t e UL ()
AL A (i)
et Sbe W)
el i) W
e PUpsLdmFiad bl Singl (Vi)
LA WS (i)
| eSS (i)
el S (ix)
tepfe et ()
el M)
SespfecAmgr™ (i)

(9342
30=10x3 S fele L e b e S St
10 IO S L S S L
10 LAl S s 6,0y
10 IO, ST P
(i) 8X+2 =18 (i) 2(X+5)= 2(X-2)
10 LSS LS8 A
10 -4)31!;*s’mjl;‘zir):.féimhugmut:a.,l'{sr;f"dlr

AJK Board of Intermediate & Secondary Education, Mirpur
www.ajkbise.net (HSSC PART-I Model Papers)
Page 46 of 46



